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General Instructions :
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(i)

(ii)

(iii)

(iv)

v)

(vi)

(vii)

All questions in both the sections are compulsory.
Marks for questions are indicated against each question.

Question Nos. 1 — 4 and 13 — 16 are very short-answer questions carrying

1 mark each. They are required to be answered in one sentence each.

Question Nos. 5 — 6 and 17 — 18 are short-answer questions carrying 3 marks each.
Answers to them should normally not exceed 60 words each.

Question Nos. 7 — 9 and 19 — 21 are also short-answer questions carrying

4 marks each. Answers to them should normally not exceed 70 words each.

Question Nos. 10 — 12 and 22 — 24 are long-answer questions carrying 6 marks
each. Answers to them should normally not exceed 100 words each.

Answers should be brief and to the point and the above word limits should be

adhered to as far as possible.



Tug — % (AT relume)
SECTION - A (Micro Economics)

1. 3f¢ a%g X <t ST9IR fd dehreh H GER 3 HRUT S¢ad! &, a1 SR qfd a5h |
(feart T2 <t qfd L) 1

JYAT

Ff¢ g X 61 IR gfd Tl Ieame ses ht Shiva § ghg o SR Sgad! &, @ SR
gfdasr | (T e g )
If the market supply of a commodity X changes due to improvement in technology,
the market supply curve will . (Fill up the blank)

OR

If the market supply of a commodity X changes due to rise in price of a factor input,

the market supply curve will . (Fill up the blank)

o) AT -Tid T9de W, 3TEd 3TE oIsh BT | (TET Taehed =1 === hifoie) 1
(F) S’ ITHR HI 5k

(@) 3 ‘S’ IHR I sh

() U’ ATHR I d5h

(F) 3IA ‘U’ IR 1 d5h

The average product curve in the input-output plane, will be . (Choose

the correct alternative)

(a) an ‘S’ shaped curve

(b) aninverse ‘S’ shaped curve

(c) a ‘U’ shaped curve

(d) aninverse ‘U’ shaped curve
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3. JMudferarmas 00 (e A m ama ) 1
() X-3781 o GHHTR Eefl T gl 2 |
(@) Y-37% % FEETR e @ i # |
() Trar 2, 9 3Aferes 9T 61 Icute foka STU |
() el ], ST 3Tk HTAT T ScuTed f3ham Y |
Fran
fr=ferfaa & & it emrd 6 ToET S % fore i T g wd } 7 (T faehew 1w
&)
(%) MCy=TFC,-TFCy_,
(@) MCy=ACy-ACy_,
() MCy=AVCy-AVC,
(A1) MCy=TC,-TCy_,

Average fixed cost curve . (Choose the correct alternative)
(a) 1is a straight line parallel to X-axis.
(b) is straight line parallel to Y-axis.
(c) falls, as more units are produced
(d) rises, as more units are produced
OR
Which of the following formula is correct for calculating marginal cost ?

(Choose the correct alternative)

(a) MCy=TFC,—TFCy_
(b) MCN = ACN — ACN _1
(©) MCy=AVCy-AVC,

(d) MCN = TCn — TCN -1
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CGRACETREIRCPECTY!

9dY
A

) > 9% X

(%) rfeaedn § aeft gETeH o o |
(@) ST ST 31907 ST |

() g X 1 HATh IcATEA AT g Y 1 HH ITEH |

(F) Y 1 AT IcdTe AT S X 1 HH ITEH |

feu T fomt #, Ieared wwrET ok W foig A € g B a6 1 daeH ST 2 |

In the given figure, the movement on the production possibility curve from point A to

point B shows . (Choose the correct alternative)

(a)
(b)
(c)

(d)
58/1/2

GoodY
N

0 > Good X

Growth of all the resources in the economy.

Underutilisation of resources.

Production of more units of Good X and less units of Good Y.

Production of more units of Good Y and less units of Good X.
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5. IrgeR $ freffed @i § § gatees a1 3evieh e foveryor el i ggenfR
T ferer=mn &t -
(i) “vRa fava e o STIR Gradr gaehieh o 23 TRIGH hl TATT T T 77 o TIH
W UEdT, I8 ¢ 961 H el A A & | — The Economic Times
(i) “THR P SR 24T &1 Igriesr 3m ot S8 W= =fge |7 — The Economic

Times

Identify and discuss the nature of the following newspaper reports in terms of
positive or normative economic analysis :

(1) “India jumped 23 points in the World Bank’s ease of doing business index to
77" place, highest in 2 years.” — The Economic Times

(i) “Government should further liberalise the business rules.” — The Economic
Times

6. 9% X AU Y TIHOS 9EqL & | A g X kY <hima # 9fg A1t 7, df awg Y A |
T I 1ot GHTferd THTd <hl G819 T AT i |

YAl
F¢ Teh TN oh! 3T | Fhg Bl 8, A o &l a%q, a&g X hl T T 984 el
[UTId SWTd <ht Ha&rg | STe i |
Good X and Good Y are substitute goods. If price of Good X increases, discuss
briefly its likely impact on the demand for Good Y.

OR

If the income of a consumer increases, discuss briefly its likely impact on the demand
for an inferior good, Good X.

7. frffed T g @

IcTE (3TN H) o | 1|2 |[3] 4
Fel AT (3 H) 200 | e | e | e 490
et i arra (3 H) 0 | ... 180 | .o | ...
37 afterdt e (3 H) — | 100 | ... 80 | ...

Complete the following cost schedule :
Quantity (in Units) 0 1 2 3 4
Total cost (in %) 200 | o ] e | e 490
Total variable cost (in ) 0 | ... 180 | ... | ...
: Average variable cost (in %) — 100 | ..... 80 | ...
58/1/2 6 OfD
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8. fewwy fora #, OP STSR Hufftd sHHd 2 qU1 OP, SR g Hufid a2 |

o

S (7 H)

O o (g )
(%) vgaH T fean gan fom, S=aw Siva freftor srere freraw hima fatwor s gurtar

gl
(@) 3u feufa 3 IR & gurfad saeer s samen i |
e
A T foh T ot et SR & a5 X o forw 71 9 qfd aefien fefafied & -
Qq = 1700 - 2P
Q, = 1300 + 3P
%] X < e hIHd a2 et HIAT hi TUHT HIRT |

In the given diagram, OP is the market determined price and OP, is the price fixed by

1,3)

the government.

Price (in %)

Quantity (in Units)
(a) Identify if the diagram represents, price ceiling or price flooring.
(b) Discuss the likely behaviour of the market in the given condition.
OR
Suppose the demand and supply equations of a commodity X in a perfectly

competitive market are given by :

Qq=1700-2P
Q,=1300 + 3P
Calculate the value of equilibrium price and equilibrium quantity of the commodity X.
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9. T hIcdeh ST T TANT Hid §U, FTHWH HHTa STATHTaT = shi = |
3T
T TG T & 7 91 1@ 918 & gTe i) <hl 3R gre] = Bt 2 7

Explain the law of diminishing marginal utility using a hypothetical schedule.
OR
What is a budget line ? Why the budget line is left to right downward sloping ?

10.  “3T0TH % WM Jidhel” & I Acdd & 7 TN o ST Jid%hel o AN & o {oheal ol
HROT sl ST HIT |

What is meant by “diminishing returns to a factor” ? Discuss any two reasons for the

operation of diminishing returns to a factor.

11.  3TeaTehRl STSIR <hl o e fersraanati <hi s e |
@
Fraferiad o 3MUR 9 ThTTRehR qe Tehiftrentdt TfaRifimar § 37a8 395 o -
(%) skt <1 we
(@) =g bt i
(1) Tershl @@

Elaborate three main features of oligopoly form of market.

OR

Distinguish between monopoly and monopolistic competition on the basis of the

following :
(a) Number of sellers
(b) Nature of product
_ (c) Selling cost
58/1/2 8




12. (%) W7 <hl hAd o= ol TR &L |

(@) afe o 1 HHd & 40% T g 2 21 T 150 TR @ FR A 120 37 T8 I1Q
1 &g <l T ShI SHITd A= o 0T ohl TUMT i | (2,4)

(a) Define price elasticity of demand.

(b) If the price of a commodity rises by 40% and its quantity demanded falls from

150 units to 120 units, calculate coefficient of price elasticity of demand for the

commodity.
i g — @ (Fufy i)
SECTION - B (Macro Economics)
13, T IR S A R 7 1
Y
TSRS TS <hT T d1cad & ?

What is meant by primary deficit ?
OR

What is meant by fiscal deficit ?

14. YdTE He o fohwal <1 3CTEWI hl Scoid i | 1

Give any two examples of flow concept.

15. ‘&0 wree hl giewmr difvre | 1

Define the term ‘tax’.
[m] s
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16. T AT for wehr wreafyen srefegemen A, 31 6 T T 5,000 HUS ¥ 9¢ T T 6,000
S B ATl 2 | IRomHd:, IUHIT =5 T 4,000 IS H 9¢ L T 4,600 HUS Bl 1T & |
3a uftfefe § diia suxi vt i gea BT | (WEt fehed o1 5 hifvw)

() 0.8
(@) 0.4
(M 0.2
(") 0.6

Suppose in a hypothetical economy, the income rises from ¥ 5,000 crores to I 6,000
crores. As a result, the consumption expenditure rises from I 4,000 crores to I 4,600

crores. Marginal propensity to consume in such a case would be . (Choose
the correct alternative)

(a) 0.8

(b) 04

(c) 0.2

(d 0.6

17, 3T srferaEn
IR fa # uftgd  (AD) = T 700 HUS
T s=d SE (MPS) =0.2 7,
frerferfian 3 Hea 3T BRI -
(%) e o (k)
(@) 3ifem 3 4 ufeda (AY)
If in an economy :
Change in initial investments (AI) =% 700 crores
Marginal Propensity to Save (MPS) = 0.2
Find the values of the following :
(a) Investment Multiplier (k)
(b) Change in final income (AY)
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18.  USE 3T <Y T | 3T areft gradt T St IR bt aferfya shifre | gred o
T < AT o foTe fopmal g1 gfeeshivn w1 Ioor@ i |

CLE]

“Tehdl BT IAUTE (GDP) Toreht <o1 6t Sreieraen o ST hedTT shi T T 4l & |7
T T3 Sher T IUYH HRT Tfgd THA 1o Ted |

Define the problem of double counting in the computation of national income. State

any two approaches to correct the problem of double counting.
OR

“Gross Domestic Product (GDP) does not give us a clear indication of economic

welfare of a country.” Defend or refute the given statement with valid reason.

o, Fo ol s 47 o e < i
(%) Tuy 3Yfd ht gorT H THT w37k 2 |
(@) eI (Ex-Ante) S=Id shl gt § SeTTd (Ex-Ante) a9 0 &1 |

Discuss the working of the adjustment mechanism in the following situations :
(a) Aggregate demand is greater than Aggregate supply.

(b) Ex Ante Investments are lesser than Ex Ante Savings.

20.  dofirre s feper Sreh @ o o5 fir=T A1 € 2 waiy § e |

How are capital expenditure different from Revenue expenditure ? Discuss briefly.

58/1/2 11 EEE pT0.



21. Tg-2rmreh reiera § Argfes A 6l Uel i Seorkd qUT TS H |

CLE]

feu gu fom & KT fauet s weifa wtar & ¢ 39 aifeuf & wmam & oo et @
TSI 3T hT Iocild i |

S

(5w wi)
Y
wsl

45° l <
O 7

Yy o
(37T %7 ORISR WR)
State and discuss the components of Aggregate Demand in a two sector economy.
OR

In the given figure, what does the gap ‘KT’ represent ? State any two fiscal measures
to correct the situation.

N

) K/ _---AD;
—”” |

W

5 E £

e 1

v 1

o0 1

< I

450 : R
0 YF Income

(Full Employment Level of Income)

gfeeatia st & fo -

taehifaes 3aUe 1 w1 AL 7 ? aehifaes 3taud i uftfeuta o g & foe !
Tl TSN 3T o1 oo ot |

For Blind Candidates :

What is meant by deflationary gap ? State any two fiscal measures to correct the
situation of deflationary gap.




22.
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(%) &I YL 3 M, AT 3 fohegl Gl Teehi o1 eei@ HIfT |

(@) YR foid s g, arg s § WA o o syt fepy s et fopee <) ames
1 foemT ot |

YT

fehT &, TEATcH IS G U |

(a) State any two components of M; measure of money supply.

2,4

TG Tureh <t afeTT S | Sfsh yoreft Ht wmg fFrtor eqar w1 et e | gaeht @

(b) Elaborate any two instruments of Credit Control, as exercised by the Reserve
Bank of India.

OR

Define Credit Multiplier. What role does it play in determining the credit creation

power of the banking system ? Use a numerical illustration to explain.

. i
ER Toraror (e T)
i) | U 50,000
(i) | frae s 1,000
(i) | Fft Stfam Sasm == ?
(iv) | Eehet Bl doft fomor 17,000
(v) Y 1,000
(vi) | TRl 3ifaw U = 12,500
(vii) | TGt @ A 20,000
(viil) | TR dsft =T 3aH 700
(ix) | TeTRI <t fafda o 13,000
x) | yaTeH s ?
(xi) | Tt @ wred feer s 500
(xii) | feet 2,000
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EZE
]

23. < TTE I o SR W, Fsft Sifam 3uvi == 9 vene AR 1 e I hi - 6

P.T.O.



24.
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Given the following data, find the missing values of ‘Private Final

Consumption Expenditure’ and ‘Operating surplus’.

Amount
S. No. Particulars
(in T crores)
(1) National Income 50,000
(i1) Net Indirect Taxes 1,000
(111) Private Final Consumption Expenditure ?
(iv) Gross Domestic Capital Formation 17,000
(v) Profits 1,000
(vi) Government Final Consumption 12,500
Expenditure
(vii) Wages & Salaries 20,000
(viii) Consumption of Fixed Capital 700
(ix) Mixed Income of Self Employed 13,000
(x) Operating Surplus ?
(x1) Net Factor Income from Abroad 500
(xii) Net Exports 2,000

(%) “SAMR Aldter” i qRATT ST | I8 “=1e] Wid o Ao H fope Tepr fr=r 8 2

(@) “IMER Sfer ($) & ehraiel YR T (3) 1 Hod Ugell 91 o L T 74.48 &

=7 |

—The Economic Times

I e b1 & 8 e gu, § 18 aRfeafa w1 I smnd W aed aret v
1 ST |

14
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(a) Define “Trade surplus”. How is it different from “Current account surplus” ?
(b) “Indian Rupee (F) plunged to all time low of ¥ 74.48 against the US Dollar ($)”.
— The Economic Times

In the light of the above report, discuss the impact of the situation on Indian

Imports.
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